Fitting instructions | Ladder Rack Accessory

Installation time: 30 minutes

Ladder Rack QL Bow | Date: 17 Oct 2014 | Issue numiber:1 | Fage 1 of 5



General notes and cautions.

Read the fitting instructions prior to accessory fitment.

e Install this accessory following the fitting instructions. Failure to follow these fitting instructions could result in vehicle or accessory
damage and/or serious injury or death.

 Be sure to recycle all discarded components and packaging following the local regulations.

¢ Ensure appropriate clothing is worn and use safety equipment.

Vehicle notes and cautions.

¢ Inspect the vehicle and note any damage or concerns found prior to accessory fitment.

¢ If any damage or concerns are found that interfere with the installation of the accessory, inform the customer prior to the accessory
fitment.

e Ensure special care is taken and the applicable fitting instructions are followed to prevent any damage to the vehicle and/or vehicle
components.

® Protect and safeiy store any venicie components that are removed.

¢ Ensure all bare metal surfaces are protected using automotive bare metal primer and touch-up paint or suitable soft seal compound
with rust inhibiter.

¢ Ensure metal swarf and dust is removed from all vehicle surfaces.

ACCESSOI‘V notes and cautions.
e It is advisable to seek assistance when lifting heavy components.
¢ Do not repair or modify this accessory in any way as this will void the warranty.

¢ Do not remove any of the accessory labels.

Ladder Rack QL Bow | Date: 17 Oct 2014 | Issue number: 1 | Page 2 of 5



Parts and tools.

Check the contents of the kit prior to fitment. If the kit is incomplete or if any items are damaged, they must be replaced using

the specified components.

Supplied parts.

9PRRBQC0980- Rear Rack QL 4RRQ0980 - RR Bow Alloy 6PBBLRB1 - Rear Rack Bow / 6PBBQRBL1 - QL Rear Rack bow
Bow Alloy 1842x980 1842x980 Angle Headboard ears sockets

_ //
A\ [/ \
e S
. B
Tools required.
Socket - 10,14,16,18mm Spanner - 10,14,16,18mm Torque Wrench Ratchet

AT
%\?,LU \ W/A

Allen Key

Ladder Rack QL Bow | Date: 17 Oct 2014 | Issue number: 1 | Page 3 of 5



Installation instructions.

Step 1.

1. To fit the key to the coaming: Place the ladder rack key to
the inside of the coaming aligning the 6mm pre-punched
holes.

2. Fasten using the M6x20 bolts and nyloc nuts ensuring that
the head of the bolt is towards the inside of the tray, and
tighten until firm.

3. Repeat for the LHS.

0 Important: Take care not to damage the vehicle or com-
ponents. Take care not to over tighten bolts.

Step 2.

1. Tofit the rack to socket: Align the ladder rack holes with the
socket holes.

2. Secure using the button head screws and M10 nyloc nuts
placed to the inside of the ladder rack.

0 Important: Take care not to damage the components.
Take care not to over tighten bolts.

Step 3.

1. Assemble the socket plate to the socket as per the diagram,
only hand tightening.

2. Repeat for the LHS.

0 Important: Take care not to damage the components.
Take care not to over tighten bolts.

_/1‘%D
M6 Nyloc Nut

Ladder Rack
/ Socket

M10 Washer

Button Head Cap Screw

M10 Nyloc Nut

o9

M12 Nyloc Nut M12 Bolt -

M12x25x5mm Washer

Socket Plate

Ladder Rack QL Bow | Date: 17 Oct 2014 | Issue number: 1 | Page 4 of 5



Installation instructions.

» Inward

¥ Downward

Step 4.

1. To fit the rear rack: Applying pressure, push the ladder rack
inward allowing the socket to clear the key, then applying
downward pressure to mate the socket over the key.

2. Repeat for the LHS. A
Ro,
Ny

G Important: Take care not to damage the vehicle or com-

. Q
ponents. Take care not to over tighten bolts. S

Step 5.

1. Tighten the M12 bolt, nyloc nuts and washers to be firm as
shown in diagram.

2. Repeat for the LHS.

0 Important: Take care not to over tighten bolts.

NN

Step 6.
1. Fitment of headboard ears: Remove the plugs in the head-
board corner post, place the ear on the inside of the corner
post and secure using a M10 x 25 bolt with nyloc nut. 38mm
2. If the hole hasn’t been pre-drilled, place the ear inside the J
corner post so that the bend in the ear sits flush with the top j
of the post, mark the center of the hole and drill using a @
10.5mm drill bit. omd!
3. Repeat for the LHS..

0 Important: Take care not to damage the vehicle or com-
ponents. Take care not to over tighten bolts.

Ladder Rack QL Bow | Date: 17 Oct 2014 | Issue number: 1 | Page 5 of 5





